SHSEEE IR B ERE LTRSS [23183301]
ELRELSESHAEE LRE LB [181020])

FSYSEBHE  HE RS
2023/08/27 ~ 2023/08/27 2E—rEHE KR =
BEEWE HS H-
BTEBEHE LH EA
B OH O £ kM EX
Bt ] 1h 2fi 3L 4 5 6 76 E5
sH 278 [—— BfE EZE(2) 10.88(-0.5)[:aA fEE(1) 11.07(-05)[ &)l AIL#(1)  11.07(-0.3)|IKEE FABAR) 11.09(+0.3)[HE FRaEk(2) 11.21(+0.9)| {7 HA() 11.27(-0.5)[ &1L #&#R(1) 11.28(+0.3)[5H EX(Q) 11.29(+0.1)
=-u.|?éﬁ.—, EEELE =S ELES ELhERE =25 = = =S
8H278 U16SF 150m EESNEE) 16.65(+1.5)[& 1L #&ER(1) 16.76(+1.5)|F 7 HHIE(®3) 17.05(+1.5)(48 %0£(3) 17.06(+1.5)[ &8 IEEE®Q) 17.10(+1.5)[ K7 Q) 17.14(-0.9)[$ B #&3(3) 1751(-0.9)[ £ H# HRIE®Q) 17.55(-0.8)
=LEEH = ] AEd KR AEHmP HEHH S FEHh
eR278 U16EF1000m FIll EBREG) 2:39.73| K% WA 2:4152KF RIZQ) 2:42.87|B8 BZE() 2:4449[K 85 1KEH(3) 2:4596(32 1REE(3) 2:46.73[# &) 2:48.05[&H BERH Q) 2:48.31
MES AZEH AEd LIRS BRI eh i RARF AERHH
sH 278 #5455 33000m A BEQ) 9:09.73[3R4E E3}(2) 9:34.75 B HiK(2) 9:41.77/NE 1RFA(2) 9:43.98(Fh & BEK() 9:4503[EH BxEQ) 9:52.56[/Ng FEK() 9:53.14[F £ KE@®) 9:56.29
i BEAELS =T RS E AmESE aES RS =l iE BEAELES
8H27E| BT 110mH0.914m) ﬁx JJiu:(z) 17.12(+1.5)[ R 1L #2FE(3) 17.32(+1.2)[#a K ZEK(Q) 1857(+1.2)[/M8 REH(2) 1861(+1.2)|RE EBA(Q2) 19.14(+2.2)[ILA RFEQ) 19.16(+1.2)[EiE BEEQ) 19.34(+1.5)[ 5 H EXKQ) 19.47(+2.2)
) BAT FMEH =R A S &)1 $E)I AERmF BEA#
sg27m| UT6BF110mIHO.991m) 'r‘r#* w\m 15.01 (&R 18A(@3) 15.46(#5H 214(3) 15.93[FAR X&) 16.90(EHA #&P9(3) 17.67(fEH SRH#3) 17.91| B8  K¥EA(1) 21.12
/A:+09 EES KiREH il =R A AR A AEh mntERE
6H278| BHET110mIH0.991m) i EH) 14.41(+0.5)[#2E #A(1) 15.87(+0.5)[)I1O ZEX() 16.33(+0.4)[£F EX(®) 16.50(+0.5)| L& ERA(2) 16.80(+0.4)[ B ZAER(1)  16.82(+0.0)[) HA(1) 16.83(+0.4)[ 3 KE5(2) 16.89(+0.5)
i : ;.%;;ﬂ'.%ﬁm E?IJ.Iﬁﬁf %%Egg HES RS ikt ELES RS E
. R (2) 16:04.50[ =4 #(1) 16:10.65| % (1) 18:13.58
SRZIE|  BRBTIOMW | RAELE BES
sA27E R BE BAQ) 3m50|EA ZB(3) 3m50[/MA FRF(3) 3m20| &L BEQ) 2m80|BEH BEQ) 2m30[E Bl 2m30| A IEIA(T) Tm90
il il e HET R L& HET R L&
sH 278 O — =L —&Q) 3m70[RT MRE(2) 3m70(i5% R—ER(1) 3m60|& L (1) 2m80(FAF BRA(1) 2m70(HFE EFI(1) 2m50( iR #55(1) 2m30
RS IS1Gi = HES RS BRIZE EEIES EEIES
eR278 R WE Q) 6m26(0.0) K10 ERB)  6mi6(-05)|A BZE@) 5m6l1(+0.2)|f#A HE1D  5mas00)| Pl BREE)  5mal(00)|fEHA BAR)  5m4000)|E ZA(2) 5m35(+1.1)|JEE BE(3)  5m32(-0.1)
b=t Lan EXHES BAG EAHES BAG ELEES ZEd KiBH
sA278 P — HE FFG) 12m49+08)[#iE EE©@) 12m03(+0.3)[EA KZ|BG) 12m01+1.0)[FE#E MKQ@) 11m7G08)[AR FEQ®) 11m46+0.D[KIL ERE@) 11m32+1.1[HA #£EQ) 11m30+2.0)[FH F—2) 11m24(+25)
~ HiBTep Stk =TS SR 12T EXKMES REf =LEEH AFR10mOB(+ 8)
sA278 [ RE —200) 13m12HA)|[KRI —E(2)  12m64(0.0) |80 1EFQ) 12m61(+0.7)|FH BAAQ) 12m30+H.D[FEE KFA) 12m28¢+1.0)|&8 EAQ) 11m96(-0.1)|EFK MRHE) 11m93(+0.8)[ Bk FE (1)  11m91(+0.4)
" - = %ﬁi%‘.e“, EUVNTHE BEAELS ELES =IES e RS E
8278 | UteEFMEEI00 | LA —AG) 33m07|KAE RZ(2) 25m65[/\iE E#E(Q3) 24m29|chiy HE(3) 22m94| KFq EEEA(3) 21m28[EH FHIQ) 20m35|BE BENQD) 20m34|H & IAEN3) 20m25
: Bl Fﬂ‘gﬂp BRI ch FEHh HEHH i PN GIEL AEH
Y r——— AR #BH) 34m34| B g B3 (2) 31m37|HhF Q) 29m68|{EA AR#H(1) 29m18|#HA EN(Q) 24m90|EE HE®) 24m14|AE P2 22m11|#)I HEHQ) 21m01
i = BRIES BEAELES RS AME FES FES BRIZE
88278 | U16BF S vAyvsRO— B A0 46m83| K45 HEQ) 44m92(F3F IRAEH(2) 44m57 [HA 123EE) 42m84| = H HEQ) 42m05 S UE SEBH(3) 41m60(F R FHE(1) 36m66|RE EREEM) 35m97
W EAT bt e REH N A il FEHh BRI ch
8H278 E & T 100m =78 BF(1) 1241H15)(lLO RA%XQ) 1249-02)|HF K#AQ2) 12.53(+0.7)| AR #IA3) 12.65(+1.3)[&80 &) 12.93+0.7)[/hE HBHEQ) 13.03(+1.5)| KF FEE(1) 13.05(+1.6)[ B4z BHE(Q) 13.42(-1.6)
" BEAELS =l iE == =S EAELES L ELES =EES
sH 278 U16%F 150m B K20) 19.17(+0.8)[ AR #ETH(1) 19.54(+0.8)| 4T FHE(®3) 19.62(-0.4)|BH #&(2) 19.72(+0.8)[ Mk &nib(1) 19.97(+0.8)| B £4%(3)  20.00+0.8)|/KEF FEM(1)  20.09(+0.8)| Nk #(3) 20.13(+0.5)
REH HRE R $E)II R SEG = ) P HEHH =EES BEA#
sH278 U16%F1000m EEREEO) 3:07.39[#Kk  1&(1) 3:07.56 [INfE &) 3:10.07 (85K FAZEQ) 3:17.06 [k E&FF1) 3:2074| KA ##EEQ) 3:21.36|8K LEE®G) 3:27.49[&F% D) 3:29.52
=S N KiREH KiREH BEE AEFEH =R A S BEFAEEH
sA278 - EEEES ) 10:59.02(Fh 85 HF#H() 11:01.39FA% () 12:23.29|FHE BHE®) 12:23 84 (MRED HZ(2) 12:2450 (&2 A1) 17:02.31
EFEHE =lhiE HiES AmEEE EhERE J:T'h'.—;
8H278| & F100mH0.762m) B EF2) 15.76(+0.7)| &% R Q) 15.97(+0.7)| AN #A(3) 16.22(+0.7)[2H &HEER(2) 16.56(+0.7)|%R W3E(2) 16.63(+0.7)|E ZHEH(Q) 16.73(+0.3)[K:F HN7EQ) 17.01+0.3)|F i HF&RQ) 17.72(+0.3)
) HEH i BAG KiREH Fiep N A =SS i
sg27m| UT6%F100myHO.T62m) (3 BREH(3) 14.65|ILTF WMEY() 14.81(@A P#REEA1) 16.34 (B2 HEB(2) 1749|548 =& 17.69
A:+10 EEH IS1Gi = EAELES HiBTeh B/ K$
sg27m| BEEFI00mYHOT62m) (5% BRE2) 15.66| K=& Z(1) 15.93[/MIl TEZEM) 1701k BEED 742|=% B 1880
A:+07 ﬁmﬁ‘i Zg?um‘.%' = = i ELUVTARE
g E1)#I2) 18:10.85[3@ME F74(2) 18:43.98[EE &&/FF() 19:47.24
8A278 B & F3000mW = = Y
sH278 U16R B fEiE ERZQ) PAH EEREZED) 2m50(=£ {Z2371) 2m00|E LB (2 2m00| Tk EZ(2) 2m00| %A #EFI(2) 1m80|® & 1m70
HiBTep ELES ES i HiBT e FMEd '.E“,IT.E“,
sH 278 — RE SEQ) 3m10[EE XFQ) 3mO0(ZEM HH(1) 2m70[t B 3FLA2) 2m50(=4#F BRAZE(1) 2m40 (R HHZE(1) 1m80
ikt IS1Gi= =S &= e BRIZE RS
8H278 e FEE FIEQ) 4m85(0.0)[k15 $H2(2) 4m78(+0.6)|#E FTE(1) 4m54(-1.0)[ 4 E#EQ1) 4m51(-0.7)|FhE FKQ) 4m50(-0.4) |88 F 1DER(1) 4m43(-0.5)| A FKFI(2) 4m40(0.0)[{£8 A m(3) 4m07(-0.9)
BB KBS St =R A S HAG i EREf 4]
sH278 U16K TR KB BHEG) 10m70(+2.0)[)II& BIBE) 10m30(+1.4)|¥EE #FiZ(3) 10m19(+2.0)| =48 EHE(1)  9Im55(+1.2)[#%#E MAQ2)  9Im29G+1.9)[iTH KEG)  9Im25(+2.1)|E:8 TEFE2)  8m33(-0.2)
- HREH i B /A b=t Laa MEd AREHLLE#EP
sA278 e — HAE HXQ  11mos+.)|IF FH(A)  10m6e8(+3.5)[FE R(2) 10m06(+1.5)| Bk #ZE(1)  9mB81(+3.1)
— ShEE =EE sRERsL| SRS HEE ZAFIM75(+1.8)
8278 | Utk TFREEI0NE |BE BHEQ) 26m01{1LO #2(2) 24m02|E=R FAEFQ) 23m89|mF tiEd) 22m25 B3 HEQ) 19m89| 5% EF(2) 19m01 | Rk BHAA(2) 18m93|FF 5 #ET1(3) 18m25
i BT FHh bt e MEd Bl i BE G L
R —— HE #HKEQ) 30m92|fE A &) 27m99| LB FF(1) 26m21[3T)Il BRMECT) 24m20[A ”i&E KE(2) 21m74| &K 1&1EQ) 20m72|FF BEEQ@) 18m94| =@ FH() 18m35
i : aS¥s EREILE == AmESE AME AME == AmESE
8278 | U16kF v yyszo— [HE BEEQ) 36m51 (FEEE Fib(1) 36m27(HiR HEQ) 36m04|Br 5 #TH(3) 30mo8 ({8 AmEQ) 29m81 [#R)Il RIEQ) 29m21 [ R MEQ) 28m99 (AR+ ZIEQ) 25m35
FEHh =R =LFEEH L AR 4 EWLFEEHH b e AERmF

Rl




